Pairis

Cavalese

Allegro

=
_
==

<)
o

D" A
7 4l
[ & o WL J /1

1
I2Y

Fisarmonica

]

=

|
2
Do7

E==
4 ¢

4
™

2
<
Fa

7]
Z

Z
2

i

=

4

Do7

31

Do 7

-695

W

oza
Do

Paris

LN

39

Fa

I
N
|

1
I
Do7

1 | 1 1
3¢ 3 5
Do7

I s TS

1\

47

Do7

Fa

Do 7

—

Moderato (Trattenuto)

fF—2

F:

Do7

55

f)
 —
o éi

:‘:

L
Yo

ANV 4

Do7

Allegro

B ——>

F:

Sol

Re7

Sol

Re7



=

i

79

) u
i
ANIV4 |

s

Re7

iﬁ ‘ =
ANV ] ]

87

==

g

S

F:

Sol

=

o

96

ANV
)

o

105

Re7

2

Sol

Sol Re7

Re7

Sol

Re7



